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| GENERAL INSTRUCTIONS TO THE EXAMINEES ;

No. on the question paper compulsorily.

Candidate must write first hisyiher Roll

o
(2) wf g1 FA :ﬂﬁaﬁ%
All the questions are compulsory.
| '(3) e 99 1 IR & TS Ie-gfer 7 ford |
Write the answer to each question in the given answer-book only.
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(@) o= et | s @vs 2, 39 Tt % 3w a9 g

For questions having more than one part, the answers to those parts are to be
written together in continuity.

(5) TH-TE F e T aﬂsﬁwﬁ%wmaﬁgﬁ/m/ﬁﬁméﬁw%ﬂ *
TST o J¥9 i & TEl TH |
If there is any error / difference / contradiction in Hindi & English version of the |
question paper, the question of Hindi version should be treated valid.
(6) 3% 1 3 forE | e SR 1 shHie ey ford |
Write down the serial number oftbe ngé“;é”tion before attempting it.
(7) T 1 SRR 2
Weightage of marks for the'ques-tion,is as -ftgmws .
GUg-3 (A) ‘ 1(ith),2toll=2i,a.§"f" 20 1
Tre-4 (B) 12 10,10= 8~ = 16 2
US4 (C) 206234 16 4
@vE-3 (D) 24 ;o"is =2 10 5
@UE-7 (E) 261028 =3 18 6
(8) ST EEAT 20 | 28 © Irrefien faeheq @ mu |
Q. Nos. 20°to 28 having internal choices.
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e - A
SECTION - A
. 1
@) tan! (\/3) - tan™! [ﬁjmm%
(3 @ I
LL3 - T
®) 7 (@ 3
The value of tan~! (\/3) — tan! [’\71-3‘)15
) § )73
i
i) {
‘-""“.‘.\“ ® )‘
(31) 3 %ﬁ' @) 6
(7)) 2 (3) 4
If matrix \:K ; t K—_I 6] = [i :ﬂ , then value of a is
(A) 3 (B) 6
C) 2 ' (D) 4
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(1) 14

(") 18

The value of determinant | 5 0 0is

(A) 14

©)

©)
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5

18

121]
3 1

13 A
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5

-3 _' &
(v) Wf(x):{xtan X 5x#0 0 = 0w et e R
0 =0
(1) 0 (F) o
(#) 1 - (@) -1
xtan'x 1x#0
Left hand derivative of the function f(x) = { A Al atx= 0,is
(A) 0 (B) o«
) 1 (D) -1
(vi) ®eH 3y = sin x — 2x T x & Q& O CCaNC b S
cos x + 2 F— cos X
(37) A (=) 3
cosx‘—'2. €0S.X 72
(9) 3 S)e T 3
The differentiation of funetion 3y = sin.x < 2x W.r. toX i 1
(A) cOs ;c +2 @) 2 —.gos D@
]
©) cosx—2 (D) , ; ?%
(vii) TR x23 +y23 =23 ﬁ@ﬁg )mwﬁ—%@ﬁwm%
(31) +1 (@) -1
l o=
®) 3 @ -
The slope of the tangent to the curve x23 + y3 = 2 at the point (1, 1) is 1
(A) +1 (B) -1
1 1
© 3 @) -3
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(viii) [ e2ioer dx FT A &
1
() §X‘3+c | @) -3+
1 ;
(H) x2+c o (3) §x3+c
The value of f e2oex iy i -

Eony Ly
(A) 3x~+c¢ (B). -3 +c
l .5 1
(€) 3x+c (D) 3 +c

(ix)

(x)

afesit 3 R 4 3R S .
5 o w@%laﬁa%maﬁwéo ?, T I arfew
(31) 0 (w) 10
(") 2 (@) 15

The magnitude of two-vectots ar¢.4"and 5. 1t thé-angle betwe.
vectors 15602, then their scalar produet wﬂl e

A) 0 B0 Zurwd
(C) 20 (E) l%ﬂ‘

AaﬁiBmmﬂtﬂﬁI’({Ah 132B@)= 13aﬁ‘P(Am
[5) 7 a8 |

en the two

B)— 3 TP

4 < 2
3 4
A and B are independent events, if P(A) = -——, P(B) =

M o 3 13 and P(A A B) =
» then the value of P (B) will be

13
4 2
(A) 3 ®) £
3 4
© 3 D) <
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ara-[!, 7] % a2 wrmm A

If A:[il —ll],thcn find the value of A%
K 5 :
zrﬁmtﬁm‘_l K‘=30,_a’TK¢rmma‘ﬁﬁm

- TRIE 1S | '
If determinant 1K = 30, then find the value of K.

vﬁﬁi(z,—z),(s, 2) T (8, x) GXEE; A H1 A FC AT |

If the points (3, —2), (5,2) and (8, x) are collinear,then ﬁnd the value of x.

';?.‘A—

If y =x3 + tan x, then find the value of el

1°fs X_ dx %1 HTF T I |

. ’ cos? x
Find the value of | 77 ginx
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11:/2 -
7. J‘ cos x dx ! FTd Hifs |
0

/2

Evaluate J' cos x dx. '
0 , | _ |

A

1 s pedfemrarmi-olesf ek, Bosi-2 ok .

Prove that the vectors a = 27 + 33 +k ol B = 45 - 23\ o
=W = ~ <k are perpendicular to

each other. AR
| 1

9. @m*%"mmmﬁw,%mmmmél

Find the direction’cosines of a line which "ﬂﬁfe’ﬁ r
axes. | {(t o o Bl€s with the coordinate
; §5
g, ¥ 1
W .
10, 39 AT TG & FEHOIH HAH T I e g & o £

Find the differential equaﬁon of those straight Ii :
4 ght lines which pagse
% S thr()ugh origi
gin. 1

11, @ % 52 Rl e welt- it B e Y v ey -
SERl
23 i sl T e | &

A card is drawn from a well-shuffled deck of 52 cards. Fj
S. Find the probabili
t
e ity that
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14.

15.

16.

9

Qs -

SECTION -B

cos~! x T MM a1 IT=1 i feafad |

Write the principal value and domain of cos™ x.

?I%-A+B=[_27 _2} TA-B ={3 ;2},?1*3“&[&%3‘“%'

0
IfA+B=[—7 0} andA—B=[3 —2}thenﬁndthematﬁxA.
2 "= 0 3=
x—1 8
af wwfors =HT I, 2 &Y, A x 1 HIA 0 b
X -

If value of determinant

o
oy 3%6 m@lu&mx

Q?

FE £(x) = (1 — 2x) T x =0 T e S |

Examine the continuity of function f(x) = (1 —2x) at x =0.

8
Evaluate J.;‘:l' dx

SS-15-Mathematics

Previous Pathshala

[ Turn over




17.

20.

3;,;5,'_15

18.

19.

| 10
STaE THIHWT dy = & Y dx I &6 I |

Solve the differential equation dy = e* ¥ dx. _ ' _ 2

fag (2, -1, 1)ﬁ§aﬁm3ﬁamaﬁm 21 - 2] + k%ﬂm:aﬁ@'rwmﬁwmm -
it |
Find equation of the line passes through the point (2, —1, 1) and parallel to the

vector 21—21 +k ' 2

=fg P(A) = 0.4, P(B) = q 71 P(A.L B) =0.6, 5i&f A 3R B T g1t &, @t q %1
T T hig |

If P(A) = 04, P(B) = q and P(A'" BY'=0:6;-whére A and B are mdependent
f* .
ﬁ ’.‘ j 2

‘?é'gﬁ b
QS‘fSCTION C
E‘

events, then ﬁnd thervalue of .

a2 Al (o7

Prove that 2 sin™! x =sin™! {2x/1 -2} y
IYET/OR

firg shifere 16 3 tan! x-= tan~! [Sx - x3J

3x—x '
=Y 5o e in]
prove that 3 tan~' x =tan ( q s
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21, o ST T AT R e a2 + 2x + 5 SHEH T A R |
Find the intervals in which the function x? + 2x + 5 is increasing and decreasing. 4
3Yar/OR
Ty 2x 3 = 0T Pt T i e - -3 3 wER
| | -
Find points on the curve x> + y2 — 2x — 3 = 0 at which the tangents are parallel to
x-axis.
2. W3- 3?+j'\+2ﬁ‘cren€=2fﬂ2f+2§ﬁ3‘@§aﬁ%ﬁwaﬁwéaﬁﬂﬁm
shifeu | :
‘ R = A ol -
Ifa =35+ 3\ 4 ?.ﬁ andd=2in2) 2k then find the unit vector n perpendicular to
—» - . 4
vectors a and b.
& "1_,&-:-2=z-3. —— -
e Ve : .
Sh gl L—_Z_ = E%d £..5_‘}.= 12__ = z are intersecting to each
Ow that lines ~ 9 3 :
other.
23, Y@raiix+2y =8 x__zz,x::aiﬂx-:ﬂ%ﬁﬁﬁ&a'ﬁﬂ mmaﬁﬁq |
Find the area bounded by lines x + 2y = 8, x =2, x =4 and x-axis. 4
€T/ OR
d
X8, }/b = (x+ y)a+b'ﬂ'{[ E% Wﬁﬁq |
Find & ofx2. yP=(+ y)“"
dx
SS8-15-Mathematics [ Turn over
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T g -3
SECTION - D
24, e fogra =1 A e Freefofiga aftern fem = g Hifi

5x+7y+2=0 ' R
4x+6y+3=0

Solve the following system of equations using the ‘matrix method : 5
Sx+Ty+2=0

4x+6y+3=0

EHQEIT/OR
1 2 2
aﬁanaq;sA=L é %]aﬁ Eﬁﬁzﬂ?r%mﬁﬁ 4A - 51=0

192 2 .
If matrix A = {2 1 2]thenprovethatA2—4A_51=0

' I .
AN b
2. @mﬂwﬁﬁaﬂwmﬁﬁ%lﬂﬁwﬁ ‘;ﬁﬁmﬁéwﬁmm

Wm%ﬁmﬁﬁmwmmmﬁﬁm

An urn contains 4 white and 6 red balls. If four balls are drawn at random

without replacement then find the probablhty distribution of number of white
balls.

FIYET/OR
T A9 & szﬁﬁaﬁma%@ﬁﬁaﬁaﬁﬂmm%m
fepTer ST & | S8 Y T 1 Wifiehar sed s hif |

Two cards drawn with successively replacement from a welj shuffled pack of 57 -4
cards. Find the probability distribution of the number of aces,

GG-15-Mathematics
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Gl
SECTION - E
e
S8 s
= ﬁm@ﬁmf T e
0
Prove that [ ——=— &x=7
rove that f 1+sinx
0
Fyar/OR
e ﬁx%ﬁamﬁﬁm
x3—x2-x+1

}
Integrate the function’,3 _y2— x4 1

with respect to x.

-

1ot/ OR

firg ifsg for & sin? x (lféi)s‘;)
'S4 :

Prove that function Sif

21, mw(l+cosx)dy=(1-cosx)dm€ﬂﬁml

Solve the differential equation (1 + cos x) dy = (1 —cos x) dx.

31uaT/OR
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2 x (1 +cos x) has maximum value at cos x = 3.
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QX x+}_f+
" 35y wﬁﬁql

x+y+1
Solve,dx Xty

FYET/OR

!x—x!-ﬁ-?)
2x—y)+5 1 & Hifre |

dy _(x-y)+3
Solve, 4 ~2(x—y)+5

! 28. Y@l T = (i +2] + 30 w3+ AT = @i s ey rp et 3 ) F
| ‘
i Find the shortest distance between [the lifies whose _vector equations are )

=(1+21+3k)+k(1-3j+2ﬁ)andr*(41¢51+6k)+p(21+3j+k) ' 6
. f“@
:!H!F:lT/OR

maﬁ’ﬁz%ﬁ@(m,@ﬁ%@% %:17 m@ﬁmmﬁmﬂ

Prove that length of perpendicular from the point (2,3,4) to the line 4 ;x = %-_-
1=E =75 3 ,;01 units. pi

3IYET/OR

.G ﬁ_,Mathematics
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fg (1, 2, 4) @ w1 AR s A Ywet S0 = TP 2210

x—315 =y_829=z_—55 R o YT T A FHteR T I |

v d |
Find the vector equation of the line passing yo@?ﬂaﬁ oint (1, 2, —4) and

-8 y+d95 g k0 —15 2 iy=09 g5
perpendicular to the lines = = “4\9:,.— % and ™ =2 L e
3 @;ﬁ 7 3 8 5
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